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For which system d g = a ?

GPELIL] DL BB GITD

Simple cubic

C) Face-centered cubic

6@ BCC augeusontiflest oigm 47
a

A) 5
V3a

Q) —“ 2

Atomic'radius in BCC structure is.

A)%
Y3a
a

Sjwefl oy éﬁ]eﬂgfm eTeTLIg
r./ l( r, + 1.}

r;/ T

The radius ratio of ion is
A)
o)

r./f{r, + r)

r./r

B)
D)

B}
D)

B)

D)

B)

D)

B)
D)

B)
D}

VITA

Qe bW SHTESITD

. @eubpeh argiapSidene.

Body-centered cubic

None of these.

a
5 V2

a2

a

2\/§
av2 .

r./{(r, + 1)

r/r,.

rr/(r,.+ r)

r./r,.

UL'._IS].IIJé)l I ulgwe Ile e QUTGSS, BCyp GarRasuLL@erer GHUGSmens

Qeran® sflurer ele_amwus Caihs® :

, uCigwev I
a) eaeflu sersgyD
b) . Qurmer énow SHeotegyD
c]' (p&LIL] bl &este gD
d) SmGara QpGHG HES
eLlfpset
a b c d
4, 3 1 2
. B) 3 4 1 -2
Cc 1 3 2 4
D) 2 1 4 3.
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2.
3.
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uCiguen II
12 Qp@madll Qurmpsdu Camearhasi
12 GpEphdo Quresdu Carerhaer
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Match List I with List II correctly and select ypur answer using the codes given

below :
List I List II

a)  Simple cubic 1. 12 nearest neighbours
b) Body-centered cubic 2. 12 nearest neighbours
c¢) Face-centered cubic . 3. 6 nearest neighbours
d) Hexagonal close packed 4. 8 nearest neighbours.

Codes : -
a b c d

A4 3 1 2

B) 3 4 ' 1 2

-C) 1 3 2 4

D) 2 1 4 3.

5. Yoo ucneus Caibosd :

A)  Bleo B) siwsshd

C) episg D} unshleme.

Pick out the extensive property : _

A) Mass ‘ B) Pressure

C) Density D) Viscosity.

6. CsCl-& augeuemnliy

A) Qur@et eow &HeTEE D BY &t eooTLp &

C) mrepd) ‘ D) Guturharerg.

Geomeltry of CsCl is _

A}  body-centered cubic B). octahedral

Q) tetrahedral D} llinear. ‘

7. omnuCsrem Qpmud Qurdhs sewiilide, Camemigetlan &@é@m &7 oot
A 4 | B) 12 |
C). 6 D) 8
The coordination number of the hep structure is
A) 4 B) 12
C) 6 ' . D) 8..
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bcc( G‘tutr@a'r MDY SAMEHTL ) NG CEH a..sfran_&afhﬁl@&@m N & eafflebr
' it src;chmﬂeams: '

Caoa B2 J
“ o 4} D). 8 ;
- The number of atoms contained within a bee unit cell is | _ | |
“ f:A) 1 B 2
_ A‘c) 4 . | D) 8

i \

9. wm,r)rr&sm gqsnsﬁlm S 2jenliy LL_Qaarrsrr@m Qanwiflhe ewwrestg
‘A) 20 %{Drpeo DT HD '
B) e %mpm wrHmd + Seowinler e Qebwiul L. Geuans

)yl &5)11;015]661 g Qe Calemen

{

15!‘ gaeww
At constant volume the quantity of heat absorbed by the system is equal to

A!) change in lntemal energy

B) '; change 1n intemal energy + work done on a system
. ‘
C).:". work done on the system

Loy i .
NI Lo

D)"’%ﬂ t zerq.
10. e‘?bpas,ms_ mwéaﬂmm&meﬂ& souef) :

8&@@] (A) .g{temnp Qmuulﬁmmuﬂé\) Qamppi_gdle efdupeyg olflueLws
o 1 -Qediup Quirpsl Catuaiaerey sremiLGEDE. |
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sf@%p @cﬂuﬁk.@mm @gﬁ!ui'uq,m sflurer allenLewg Baita@ :

A) (A) mm@m (R) @r}m@m sfl, Qo (R} aeg (Al alpe siflumen eﬁleﬂase,m
- B) (A) lDLT)@JiD (R) @qm@m #ifl, Quaib (R} asviug (A) alpe sfure alerdainden
C) E(A) &) g‘a,smrrso (R} peup
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11.

12,

13.

Consider the following statements :

Assertion (A): Heating effect is observed when He is allowed to expand into
vacuum at room temperature . :

Reason (R} : ’i_‘he inversion temperature of He is very low.

Now select your answer according to the coding scheme given below :
A) Both (A} and (R} and (R) i the correct explanation for (A)

B) Both (A) -ancl (R) are true, but {R} is not the correct explanation for (A}
C)  (A)is true, but (R) are false |

D) {A) is false, but (R} are true.

&8 @R Rerer allmeraeiles ahs speilés A H= AE?

A) H,+1,- 2HI VB) C+0,- CO,

C) 2H,0,- 2H,0+0, D) PCl,— PCl,+Cl,
For which one of the following reactions A H= AE?

A) H,+1,— 2HI 'B) C+0,- CO,

0 2H,0,-2H,0+0, D) PCl,— PCl,+Cl,
fls Geophs Ceulublareiie Qpierev Geutiugd Careranmiig

A AG =0 | B AH=0

C) ‘AG=AH D) AG= AH
According to the Nernst heat theorem at very low temperatures

A) AG =0 . B) AH=0

C) AG,:-A.H D) AG= AH. .

60-3°C @b 27°C &b GeoLCu Quigd @ sriam. @uidysdsr Hper aerer 7

A) 60-3% Bl 27%
C) 333% | D) 10%.
What is the efficiency of a Carnot engine that works between 60-3°C and 27°C ?
A 603% . B) 27%
C) 33-3% D) 10%.

x[1602] 16001
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afgaé.&cduﬁ_m[bgjdr I L Qaliuflerendles @ apedsmdlen ahg setdlar wdliiy

14.
| 2flab 7
A)  Blesrgdlu flensCeusd
B) mﬁ&&;(g)eo symefl eufss HaosGousid
C) ggmaif] SeneGoumd
D} sprefl Gasid.
N For a given ‘malecule at a given temperature which of the fallowing will have the
‘maximum value ?
A) - Most probable velocity
" B)  Root mean square velocity
" C) Average velocity
‘D) Average speed.
15. tﬁ]e&é&rr&,éﬁtugorrm gensCaadpdbed (u) syrsf HeosCauasdlbeb (V) 2 eren
QerLiy
A)  u=088v | Bl u=0416v
. C) u=09250v D) u=u
Relation between most probable velocity { u) and average velocity ( V) is
A u=088uv | B) u=0416v
C} u=0925v D) u=u
16, wrpr sargaraild, G g 2 ster Fiw aryalldr Gurerd Qi ghysdme
| a&DGE D 7 | |
A) 3R | B) —:25 R
: C) g D) R.
2 The mo‘_lar% heat capacity of a monatomic perfect gas at constant volume is equal
to ' .
A) 3R B) g— R
o 3 D) R
X ‘ ‘ ‘ 16001 [ Turn over
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17. fsssrpguorear FlmsCeasid, syrefl dosGauad wppd sgrefl Qamws
HanaCouagdlen autbamepold Hydlu apaTdbed 2 orer QgTLiy aldigb

A} vJ2:48/n:V3 B) 1:42:43
C) +V2:43:48 D) 1:V8n:v3
The ratio of most probable velocity, average velocity and root mean square
velocity is ‘
A) V2:V8/n:V3 B) 1:v¥2:V3
C) V2:V3:48 ‘ D) 1:vBr:v3
18. mevedweoy euryelhe auQurws Ve fls L thdl QmesD 2
Al P=05atm, T=600K B) P=2atm T= 150K
C} ' P=1atm, T=300K D) P=1atm T=500K. |

An ideal gas will have maximum density when
A) P=0-5atm, T=600K B) P=2atm, T=150K
C) P=1atm, T=300K D) ~ P=1atm, T=500 K.
19. Qprerevl. Geutiuéd Garlur(® 2 u@eus
A) dyeuinsel ‘ B) uqaﬁ.@x_u QL mefraet
C)  anpiiser D} peedlwey euTwbse.
Nernst heat théorern' is applicable to
A) Hquids B} crystalline solids
C)  colloids ' D) ideal gases.
20. @ adflu saregy augeuLidle Géwng setb
Al 100 Bl 200 -

C) 111 D) 110.

The plane which will be absent in simple cubic System is

A) 100 _ B) 200
£
C) 111 D) 110
x| 1802 ' 16001
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21, Zn 2“ -+ 2e —-> Zn aeitp efevenlen Hatwpeoet Spssbd ~ 0-76 V %@m @ edmbas
gfﬂma& FnlQWS .
N Zn cg*u&‘lmg;gn.m eSenanyfihe vl regest aumyeneu GlaueflafiBid
Bl Zn @@ g seadlget H&S
C; . Zn Gra)eliaL_zyrrsmaw}m ghns GErergpd g;a'ncmw‘ 2 LW
}D) © Zn 2*’9{msoﬂ PO 2 Sediget @@éseﬁ
The reaction 'Zn ** ¢ 2e - Zn has a standard potential of ~ 0-76 V. This means

%
' ;A) Zn liberates hydrogen gas from acids
; B} Zn is a reducing agent
u C) ';f . Zn is an electron acceptor'
i D) .- - Zn 2+ is a reducing agent.
] ’aﬂrﬂmrr maeﬂ&am aflemestenns Ceaua LS Gieug:
1; i-IA) Qﬂ@muﬁlm goblere orileflew Hfafiuges aped
i ‘ B]. aﬂmmuﬂlm ST DD GODUUSET CLpd
fa F C) aﬂ@mzﬁlm Hemreyy SUHDDE GeODLILIS 6T @a\)w
* lg‘ D) eﬂmmu@un@a‘mmsn&mguugm gpeutd.
i . f Cata.lysts speed up the reaction by
{ E: A increasing the equilibrium constant of the reaction
!

B decreasing the free energy of the reaction

i Q) decreasing the energy of activation of the reaction

. 2 .D) gdiss.olving the reactants.

Wb
: 23p @m{pgm Aemteyismer hpeyemLw el
o ?ﬁ}j E"A) r#«sn.nG:\Lm'@g;,m) penafléesurs Hlagpn
5;5 B) Fi Quogieurs Reapn
% i?;it %, C) ﬁﬁmmﬂ&m&wn& e prs
o D) (Bme.mrr&. Bl apin. ‘ ‘
 The reactions with low activation energy are
; " A) f'f always spontaneous B) slow
C) ntin-spontaneous Dj) fast..
1802 f i . - 18001 ‘ . " [ Turn over
$ e gg,f&’ ';"'
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24,

25.

26.

10
afleneruig ' ey . 2 efer S0 aflem eor uf) b1 ofleven Ceusis
3x 105 Gl_.DITG\J.SﬂL’.L_F?"-l ofarg~ . afleweru® Qur@efledr b SLtey
02 Curé.Lf - ! ol obs alewenilen allewar@ois wrded ( k) et il

oTeoTesT 7

_'A) 1-5 x 10 “5 afenmyg ~ ! | B) 1-5x10-4aﬂmrrq-‘

C) 06 x10-5aSemg ! D} 06 x 10~ *afarmy ~ 1.

The rate of a first order reaction is 3 x 10~ % mol lit = ! s 1. When the initial
concentration is 0-2 mol. lit - ! the rate constant kis |

A) 1'-5x10 %51 B) 15x10-%s-!.

C) 06x10-%s-! D) 06x10-%s-!

aeresd alloarGos wrphlure greakm LUGD eleenllsr HertaGaTet .a;;,fpgoe'\:

A) 2 Gars efemenGeus wrHHwLTe BT GoTL LILED aﬂsméuré;@é LOLDIT 65T &

B) 2 Gors allwa@aus wrbfurd sram_ou@d ofiaaou ol @epaurs
@oéed '

C) 2 Gors . aflwaCas wrpfurd grem Lu@h oloaou ol gdswors
@eseb , |

D) @eubmer ageybdéamen.

The activation energy of an enzyme catalysed reaction is

A) same as that of metal catalysed reaction

B) - lower than metal catalysed reaction

C)  greater than metal catalysed reaction -

D) none of these.

spifliy sESTUTR aTesTLGS

Ak ;% e - 8HY /Rt g - ST /R B k =£'E:E e-':-\H*/R‘ eﬂs.*/ﬂ

Q  k =.;%33 JNT e -AS¥ /R D) k = ng e-AH IR g-as¥/Re,
Eyring ‘equatio'n‘ is

Ak =% e ~AH /Ru g - ASF /R B) k =5ﬁf e-AHY /Ry gaS¥/R

c kK =% e AH /Ry o -aSt/R: D k= %%T e - AH /R e—As*/g:__

X . 16001
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27 : @@ Glg;rr@u!q @@ apevdaagy allemes sees eﬂermsq@ &myesfla eir efbpm@mrr@
| fa; aﬂsmm srsu'cr ' S | 2 3 4

0 AR (kJ mol - 1) 60 70 60 70

o oast (Uk-1mel-l) - 10 -20 + 10 ~10
,?; : 1000 K& erpp ellemeor Sifls Causwreng 1

7L A) cﬁ]smsur 1 | B) eSever 2

fjf C) E;sﬁlcimezsr 3 | D} aleer 4.

e .Activétiqti parameters of a set of bimolecular reactions are as below :

" Reaction No. 1 2 3 4

" AH* [(KJmol-1) 60 70 60 70

i ASH (JK-1mol-1)  -10 20  +10 ~10

{‘ o Which reaction is the fastest at 1000 K ? |

‘ j A) ; Reaction 1 B B) Reaction 2

‘r?‘i o g Reaction 3 : D) Reaction 4.
r28 G\m:lug‘;\mm GeoIED TS _
r,é& A a ';35c Kasc : B) l;3(35'0 x kosc

"-!--z. 3

Bt Temperature coefficient is

EI, . A) j kgsc~ kasc B) . kggcX kasc
do o § kase ‘ kioc
reo D) '
,ég'f-;f' © kgse K 100

| 29 astrrrcq SLODE WHPID GephuL e el QgmLiy

i Al @ang)fggw_& DS = Alemia) SbDG — QpEsEIMNSET 2 cTaaublBHGD a;y,mpso
B) 1 eﬁarrrq LODS = SOPHBULE HHDS — APEEFapiselr a,enmmg@@&@w Sy HDe
C)'; Aeonttey PP = GOPHHULE JDPE

) . Qeupget agoifidme.

Relation between activation energy and threshold energy is

A) threshold energy = activation energy — energy actually possessed by

,3 | § : molecules
B) activation energ' threshold energy - energy actually possessed by

i ‘é molecules
C) - activatlon energy = threshold energy

D) none of these

. ¢
P 16001 I Turn over i
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30.

31.

32.

12

aﬁl@m@sxg&fn =k[A)*{B]P |B)Yaafle, allenenesr Guoraiomen aﬂmcmu@

A) 3 . B) a+f+y

C) A+B+C : ) D) a-p-7v

Iftherate=k[A] %[ B]? { B] then the overall orderofthc reaction is

A 3 B) a+p+y

Cl A+B+C ‘ D) o-B-¥

04 M @&qu.& SBHeapo, 0-04 M Camguwid aqeﬂf.@;t_.&@io 2_efrem STRES &eni e el
PH wdlisnus saoifs. 298 K & 2fllgé spflesdlear pKa = 4-74

A 274 - B) 374

Q) 1.74 D) 5-74.

The pH of a solution containing 0-04 M acetic acid and 0-04 M sodium acetate
given that pKa of acetic acid at 298 K is 4-74, is

A  2.74 . B) 3.74
. 174 ' D) 5-74.

Q X Yuppd Zgdlu 2 Careamsdlar ghic B ouwssd eepBu + 0-8.
- 3:05, - 0-40 whHpd - 1-66 V g@b. ahs 2 Carad aaflfler gReswenyb ?

- A) Q B) X

33.

) Y D)y Z.

The standard reduction potentials of four metals @, X, Y and Z are + 0-8,
-~ 3-05, - 0-40 and - 1-66 V respectively. Which metal can be easily reduced ?

A @ B X

Q) Y , D} Z.

Jerrigerd dlér woasasdloCu o der Bigs shss Sfle sopsame
Besrermprrging @ aduyb @un@@ Gt iblest e eruiléy G\msﬂaﬁ]gaﬁ@tb QuUTW ergy .7

A O, B) H,

c so, D) SO, N
While electrolysing a s‘olutloﬁ of dilute H »50, between platinum electrodes, the
gas liberated at anode is

A 0, B) H,

o so, | D) SO,

x 1_.6001‘
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S ‘
' 34, Hpsscn_ 0

N 1o

41 et

[ ° ]
i

L 13

1 M segsdsdle ag ofle Oate_pgs Hpmers Oaram g
H,SO , | B) CH ,COOH

4

o' NHOH D) HBO, '

i}

- : con&uchvlty is

WA " H,SO | B} CH ,COCH

Y ©) : NH ,OH - D) H,BO,

Qaalrras'or@ sflurer el ews i@ :
L, % ulgwé X vl gué I '

@i VOspley

a)
b

T b) "I DHO Aflens g
"o i

b c) 24 svaure® Sjwehdledt parey

LN

‘d) " Caménmey Fagplid.

LA 2
LB 3
Lo 4
‘D) 4

i Match List I corre

. ‘r . i
! below !

ﬂ -~ § ListI List O

=' o a) ' Faraday . Y concentration

, L ‘b)  DHO . degreé of dissociation
{0 o Ostwald ionic mobility

d) "~ Kohlrausch . coulomb

& a

L}
- = Wy

c d
1 4
2 4
1 . 3
- 2 3.
ctly with

List Il and select your answer using the codes given

R

L

o= 3 o 0
W W oo Rf

I VITA

- Among the 0-1 M solutions of the following the one that is having highest

. 'L'.ll.'..lq,li.lé)-.lg ux‘_lq.lu& e & Quresd, &y G\aw@é&ﬂuc_@eﬁm ePSPeams

s . e

JRE—
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36. sflurer pO&s LaTarwss @prﬁ:@ aflevserus CarhCsd :
A) H Zn2+/ Zn>Cu?2*/Cu>Ag*/Ag
B) Zn%*/Zn>Ag*/Ag>Cu?+/Cu
C) Cu2+/Cu>Ag+/Ag> Zn2*/2Zn
D) Ag*/Ag> Cu2+/Cu> Zn2*/Zn.
Choose the correct decreasing order of reduction potential :
A) Zn2+/Zn>Cu?+* /Cu>Ag+/ Ag
B) Zn2+ /Zn>Ag* fAg > Cu?+/Cu
C) Cu?2+/Cu>Ag+/Ag> Zn'_f“/Zn
D) Ag*/Ag> Cu2+/Cu> Zn2+/Zn.

37. 001 M oé9é oflesdler pH
A)  0-01 Mumidlé opblesdler pHée swworerg
Bl . 0-01 Murmilé siflegdler pHeow il @oney
C)  0-01 Muridlé sblegdlest pHeow el yflan
D) 0.01 M HCl &1 pHé@ suniwreng).
pH of 0-01 M acetic aéid is
A)  the same as that of 0-01 M formic acid
B) less than that of 0-01 M formic acid
C) higher than that of 0-01 M formic acid
D) the same as that of 0-01 M HCL.

38. KClg® 20y Geoemtiuns UwsiLBeuSest &rgasib

1) t,+t_=1
oot, = t_
ii) AL =AM
iV) A .+ A = A o
Beuhgyer -:
A) (i) w @D B)  (iif) b LG

C) (i) whHmuo (i) ' D) gmaspd sturarame.

* : ‘I 16001
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15 | VITA
KCl s used as a salt bridge because |
ﬂ ) t,+t_=1
i) t,= t_
W A en
) A WA = A
of t;wse :
A)  only (i) is correct | B) only (ﬁl) is corf‘ect
C) (,il] and (iif) are correct D)  All are correct.
£gg&msﬁmL T SILkiEend Seuadl :
saHuy (A) : UCLBfle g6 Pens ety sjwefll u@aﬂ Spermer YCrruGemmestléy
. G@@peusney Sueiliugefl.
aryesid (R) : Spund swefldier, swefl gurd SHesddug.
55(356 @gﬁ\ﬁlﬂﬁ@ﬁ‘rm el gé sflurer el ows Caipls®
A) | (A) vppid (R) Gran@o sfl, Cugud (R) ereiug (A) elbe sflurer efenésb
B)  (A) wppib (R QraiGid &fl, Gugiin (R) eretug (A) elbe sflurer aflerésncen
C) (A) efl gyemmée (R)g,cu@ |
D) (A} soupy syeomen (R) efl.
Consider the following statements :
Assertion (A) : LiCl is a strong electrolyté in H ,0 but a weak electrolyte in
' propanone.
Re&son (R): The ionic radius of lithium ion is very small.

‘ Select your answer according to the coding scheme given below :

A) Both (A} and (R} are true and (R} is the correct explanation for (A}

‘B) Both (A)and (R) are true, but (R} is not the correct explanation for (A)
-_C) h (A} is true, but (R) is false

D} - (A)- is false, but (R) is true.

X r . 16001 . | Turn over
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40.

16
sfluren eurdbdlugenss Ggﬁﬁ;@g@ :
A sfleb eSfunrergres Bimhsré pKa mé]‘uq Shluprs @BEGD
B) sfled affusrargre @obere Kawdiy ddlugre Gesen

- C)  spfled effusrengrs @ohard pKa wdliy sfenrs @neen

41.

42,

43.

D) - @euppisi ergiayidvemnen.

Choose the correcf statement :

A) The stronger the acid, the smaller the value of pKa
B) The stronger the acid, the smaller the value of Ka
C}  The stronger the acid, the larger the value of pKa
D) none of these, ‘

ESR flpurensudéd Mn 2* gueallég asgaoat auflacr fleal&@b

4) @R Bl g&m

Q 9w D)  <&p.

The number of lines observed for Mn 2* ion in ESR spectrum is
A)  two B) one

C) seven , D) six.

HCl é1 giflitey fiGeuan o6 v, @ebsred DCl & sfiey oi8iTGeuc
Camymunrs ey GihHGD 7

A Fv - B) v
1
) —=v D) V2w
) )
'If the vibration frequency of HCI is v, the vibration frequency of DCI is
approximately
1
A) 3V . Bj v
1 :
C =V D 2v.
) 5 - ) V2
Spbeor_cubpiet T b Wabanbilen (pemaTauTssamar QUIGSSE ?
A}  NMR fipwrene o B) , ESRiporeve
C) IRApurere ' | D}  grwer Bpwrene.
Which of the following is based on the polarisability of a molecule ?
A)  NMR spectroscopy B) ESR spectroscopy
C) IR spectroscopy D) Raman spectroscopy.

x ' 16001
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4., dpssai_ Hporaesdie adeé pvTamameass LuSLRSSILGADE 1

S#°  § . ESR

: 1
1od L
®

1) NMR
ﬂl] R :
iv) Mass.
. @eupget ¢ |
A Guoied ‘ B) () wpid ()
IR o B T P D) @eubpsh agabideme,
_. - In whféhjc;f the following spectroscopies are microwaves used ?
" ) ESR |
e 1|u : NMR
o i\u ) Raman

! ' iv) - Mass.

U Of these ;-

A only | B) () and (1)
Q) (fu only ' D) none of these.

45. ulguée I ulgue Mo Curpsd, #8p Cer@ssiu Gear GHlGsmens

_:--@mrms’m@ gfluren afleamug CetbOsd : |

- utigués I uCigué I
f "“i Q- 9fey - L AJ=0
Y b s-Gfey Al =+1
) c)" P-Lﬂrﬂcq T AJ=-1
@ R-Sify

B

Al=+2

NI~ kW
- WD
i L - ¥

i
& :
. i
A

H i
yo
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46.

47.

18

Match List I with List II correctly and select your answer using the codes given
below : '

List I List IY ,
a) Q- branch | 1. AJ=0
b) S-branch . 2. Al=+1 "
¢) P-branch 3. AM=-1
d) R-branch 4. AJ=+2
Codes :
a b c d
A 4 3 2 1
B) 1 4 3 2
C) 2 1 4 3
D) 3 2 1 4
LpesigT -G e Hipwrenendies siijeid
A} 200-900 nm - B) 400 - 800 cm -
C] 200-900cm ! D} 400-800 nm.

The visible range of the uv-visible spectrum is )

A) 200 - 900 nm B) 400 -800 cm -! R

C) 200-900cm-! ‘D) 400 - 800 nm.
QueerThyemapg e o dear Hogeoan® yOrriireafldr GCeugl pafey
SFI_LrogamanaoL ol siflsnrs @msen. BBhE&s sryemrid

A)  Ouenfer cummerugdlaenw 2 L aflereeay allaverey

B) Ueas Qsrgdigenu Qarsell_ggamr. alererey

C) Quenden cusmerwihHdguen w W@@ﬁ.’d: sﬁ]msﬂq

D} Lﬁlmcu_rs'u mmmmg‘,ﬂ@mLm HenaQureslioury et Nwener Lurarbhg alamerey.

The chemical shift of aldehydic proton in benzaldehyde is greater than that in
acetaldehyde. It is due to

A)  resonance effect of benzene ring

B)  steric effect of phenyl grm;lp

C) inductive effect of .benzene ring

D} diamagnetic anisotropic effect of phenyl ring

~ x[1602] | 16601
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50.

51.

19 VITA

"CH ,CH 20D s_oLw '‘H NMR flporeoaede Hosgh wasfeda aanafésos

A ap D B mbs
O wep D) Grenb. |
The number of signals observed in the 'H NMR spectrum of CH ,CH ,0D is
A six - ‘ 'B) five |
C) three . D) two.

Blemamgea wrPelldlgum u oG

A Qi sueur ' B) &mev
¢} Ofed D)  OGanitilen.
The unit of coupling constant is -

_A)  tesla ; B} gauss-
C) PPM D} He.

NMR @rpwrrmsuuﬁ\s‘u TMS e &/

A) Seeprss B  govee Qenanig
C)  wem Slerey Geredorgy D] mrag Serey Qamesorg.
The TMS signal in the NMR spectrum is a / an |
A) singlef _ | B} doublet
C) triplet | ' D) quartet.
afgp&e;ctht_mli)gS\@ oy sflurs QuressiuBefreng 2

Qe I (Qef-1) uL‘.q.uuéu I
A} 3200- 3600 - - -cH,
B} 2250 . —  -OH(ghenedls )
C) 1710 . —  C=0(&.Cunmer )
D) 1450 and 1375 — CN

Whlch one is correctly matched ?

. ListI(cem-1) List I1
A) 3200 - 3600 — -CH,
B) 2250 i- —  ~OH ( alcoholic)
c 1710 —  C=0{(ketone)
" D) 1450 and 1375 .~ ¢N .
; x[1602] -, 16001 ' | [ Turn over
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VITA 20
52. &phaeon. @wésm@e,aﬂé g Crowre NMR wpa® @b ?
A) C HOH B) CH ,CH ,OH
C) CH ,0H D) CH,OCH,.
Among the following molecules which will give only one NMR signal ?
A) CHOH | B) CH ,CH,OH
C) CHOH | D) CH , OCH ,.

53. &pssam_aphle ESR Hiporoaaie asgamean aflss datseb 2
) CH,CH, |

) CH,

i) CH g
A 4,7.6 | . B 5.3,6
c 216 | D) 12.4,7.

Predict the number of lines in the ESR spectra of the following systems,

respectively :

i) CH ,CH ..

W CH, .

) CHy
A 4,76 'B) 5,3.6
C 21,6 ' D) 12,4,7.

54. dpssaoaipdle ag HDdOLGEE e ?
A) -OH B -OR
C} -Cl - D} -NHR.
Among the following which is not an auxochrome ?
A) -OH | | B} -OR

0 -a - D) ~-NHR.

x[1602] - [1e001 |-
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55 qmmg;rr-&t_qo)slr rﬁqe\) <y diaild HpeagTs U(g,élu&'loo LueSTUI{HHD @aﬂ apeud |
A} G\gmrrrem %mﬂ aflené B} Gemgw el ellerse
C)- (Sg[oa:gm 3 0 aflerég D} evaplpmen safl aflende.
The source of UV radiation used in UV visible spectrophotometer is
A} .{; xenon va;Jour lamp B) sodium vapour lamp
C). 4 halogen vapour lamp o D} hydrogen vapour l&mp.
‘ 56. gg,rrug.ofsoﬂcm errg;bélgmrrsm ey cumaadldr aanaxdléams
n 48 i o B) 49
afi . | D) 36.
: Nu‘irixi)er of inaepondent vibrational modes for naphthalene is
AN a8 ! B 49
cl' 18 S‘ 3 D) 36.
57. @sua.‘ﬂsmmud C= Cean IR2UsmBHS UGH
. fo.i) _ -C C ow ol sflsbd
L i, ,_;‘-ﬂ) C - C ow el siflaid
‘ ﬁi) C = C oow aJl& @eopay
1M C-Cawalé gapal.
@mm@m b .
A) ) uat.@m srﬂu.lrrsmgj B) (i) whmbd (if) eflurerencu
) (1), (1) ms_r)gr,um (iii) sflwresteney D) Ssoatpad &rﬂuxrsmsmml.
For a triple bond C = C, the IR absorption region is
) . ‘LL' 1) hlgher thanC=C -
f " higher than C - C g
: 1w lower thanC = C :
,F;: "'t) lower than C - C.
: Of these j i \
‘ 1;\) - a.lone is correct B) (i) and () are correct
Cl)} | __ . [ﬂ; and fiti) are correct " D) all are correct. b
x 1602:5,;;.: ) j % 16001 | [ Turn over .
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58. swédiremivpwpn LTl apedsapens CatbOisd :
A) HCl B) CH
¢ H,O0 o D} CH,.

Pick out the asymmetric top molecule,

A} HCl B) CH,F

C) H,O0 . D) CH,.

59. dpssavieuppel ahg G scuprel QUTGhafng *

Blpwrees ‘ Cariey aflg]
Al IR — . afltallaCurg Gumrpenat wrhHpd
B) menafusee —  AJ=zx1 ' |
C)  @umwesr _ —  pedsn Saos geaury udiiude g are

QLD EHBe Geuato B
‘D) sl gretls — &phél GeureirLn ereor, I > 0.

Which one of the following is wrongly matched ?

Spectroscopy Selection Rule
- A} IR — Dipole change during vibration
B} Microwave — Ad=z1
C) Raman — Molecule must be anisotropically polarisable
D}  Electronic — Spin quantum number I > 0. |

60. &psacocuppet, @rwen afleerasaa QaueflliLGHgId wWadbeap / apussapsel

wremey ? .
B N,
i) HCl
i) CO,

iv) @ml;b@sﬁ srg;mﬂéoemeo.‘

Gleugier :
A) ()o@ C B) () wppid () wr.GD
C) (i), (1) whgid (1) w G D)  (iv) w (ib.

x 168001
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23 VITA

Which of the fbllowing molecule / molecules exhibit(s) Raman effect ?

1) N,
i)  HCI
1) co,

iv) Ndne of these.

of tﬁese :
< A).. ()alone B) (i) and (i)
C) (1), (i) and (iii) D) (iv) alone.
61. @@muj_@:\ @@é@m& ﬁ@ﬂqﬁ;gﬂpaﬁ&eﬂe&r sflurer suflens :
A) .CO>002>'802 B} CO>S0,>CO,
e soz'>‘co>co2 D} CO>S0,=CO,
Choose the corréct decreasing order of dipole moments :
A CO>C0O,>80, B} CO>S0,>CO,
C) $0,>C0>CO, D) CO>S0,=CO,
Cut Lurenig sesTenLoueLWwEl. o Glereild |
A  d gyl resar wuaugd BroNdipsed
B) d c%ﬁ'!.‘]]l;l.lfd)&ﬂ"r gflurd) ByoSyererg
C)  4s o6 ouppd LILEHS aabLgTase 2 ST
D) @g,sur ;%.éssrﬂgsh GHEGD HeTanowmé.
Cutis dimpég;let{c due to
A) cmﬁpletely filled d orbitals
B)  half filled d ori:itals
C) the presence of electrons in 4s sub-orbit
D) its reduéing-behaviour‘
x[1602] K "j Tie001] . | [ Turn over
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63. Spsacoicubpich 78 LTGT STHSHSETOW 2 DL WG ?

Al NH, B) N,

C} NO D) None of these.
Which of the following is paramagnetic ?

A) NH, | B) N,

C} NO ; | D) None of these.
64. dpésamaupper 2 Wflud Hflur emsdl ag 1
A} srtGurenapl Gyl Beer | " B) eciengbash
Ci  Carm pficuiisel D} Guifarser.
Biological catalysts are |
A) -Carbohydrates B) Enzymes
. C}  Amino acids ' D) Terpenes.

65. urgrar@sS@b [ Pl ugiy@uealess@d ye-den sflurer swesur®
- 1 ‘ 1

A) [P ) =Qureni sarsera X 73 B) [ P])=Curemrt a&sﬁa;qrq /2
C} [P} =Curenrt searsenes X ¥ D) [P]=Curert senseney / ¥.
{

The correct relationship between parachor { P | and surface tension y is

1 S 1
A} [P]=Molar volume x y*4 B) [P] = Molar volume / y*4

C) { P ] = Molar volume x 7y Pp) [P}]= Molar volume / v.
66. oo Hamogdldr Cuod GE aumuyalle ugﬂqé,&.sur'réﬂ .

A  Qeaniue Qsrel eleveurgd B) Geulue dp aleverurgd

C) 3 hméd 2 L Garer allememur @b D) @eupmiet agoydléene.

Adsorption of a gas on a solid is an

A) endothermic reaction B) exothermic reaction

C) endergonic reaction D) none of these.

x[1602] . [1e001
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67.

68. .

: &%pwg,gjc;ena,en eI (LD

‘f\) . CrrflérGarppid 2 e wene

] B) éréﬂﬂ&é&r@smnj)mlb 2_enL WeneL
* C) (B_r_r,rr csqa.\eogj et BerCarpmid 2 e _weme

5?? D}’ @m@mmpmppmm

1

Colloidal particles are a.lways
oy

A} positively charged B) hégatlvely charged

‘ C) -' positively or negatively charged. D) not charged.

.11 N

'a?l,p&;a:cu‘o'n_ @smg)er,eiﬂe\) g ‘BT - FTUDLILDSS ummu@mﬂmmm ?

69.

70, |

::iA) suqm_@ﬁm , B) 1f piameug sl e
f; C) &mmrrsu aug $5e D) sgéieumen L&ﬁTQJLﬂ.Eg;G'O

!Which of the following methods is not used for purification of a sol ?

IA) ' Filtration B) Ultraﬁltration

| @.-

: (j) Dia,lysis D) Electrodialysls

_'* afkp&a,Ml_mg)@sn TEHG Lo O THSHSSTLLTGD ?

uu_ NGB

:."-'A) 3 erdGmIJ' f _ B) &#med
. ) Qe D) gGymemé.
1 " For which of the following smoke is an example ?
IzA] Foim B) Sol
?ijré) .- Ge{ : - D) Aerosol.
a?bpaamgsup@efr Th® EpeTn) Saipuifldrenen 2
iy A] @Gmrr@grn.‘ileo B) umé
: hrf ‘ i3 S
 ;§‘ c) | @L‘i}& &S GETTI. D) yos.
by

;h"‘ Which of th‘e follawing is not a colloid ?
e 1

VITA

A Chlorophyll B) Milk °

AL q

r' ER

©C) Ruby glass ' D) Smoke.

o Ra 1 '

i 11
x 1602| ° 30 | 16001 [ Turn over E
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VITA o 26 |
71. er@larCyr Quardaila aparn plemwiser 2 sretal. el ‘%ﬁﬁegm‘, Gl

whpus uryr pGrmoias SL@h. b ey pCemotaelia apbe Sifle QBueme
Heiusfpd 2 ererg 1 ~ | :

A) iaGsr mGerwt
‘B) le.'.l_rr .@Ge_mmﬁ'
C)  umgr gpGamort

D) sewapgd GCr Guupea Hpiy Spemen Qubpeheng).

Dichlorobenzene exists in three isomers — ortho, meta and para iscmers. Out of
these three isomers one wtih highest dipole moment will be

A) ortho isomer

B) meta isomer

C} paraisomer

D)  ali will have the same dipole moment.
72. Qubpdwes urly EQJUQL;IGQQS‘GET Gurrgj. Lty seupiLLGerer QuTget ClaefCupiaug

A) Qeauliublanes 2 wieume B) Oealubeoe Genpsured

C) SpHSd 2 wieurd . | D) Gegdle &éléarﬂoun'éo.

In the case of physical adsorption, there is desorption when ‘

A) temperature increases B) temperature décreases

C) preséure increases _ | D} concentratiori increases.
73. eapupges gellowus Hppgbed ey T SEPsELLGEDPE 1

A)  Sogerafuer Guéabd | B) Déigperans aeutéd

C) geiLmé ofleveney . D) Berennd selgy® ugeud.

The scattering of light by the collotdal particles is called

A) Brownian movement - B) Electrophoresis

C) Tyndall effect ‘ - D) Electro-osmosis.

x 16001
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74 a?@ééassﬁb‘r; Gefrohseiies a3DE @@@éwm ATTEYALLE uag\_ol_‘ BHUD &

Q\G&EGD ?
A) 1,1 - oL @QemmQym e dedlebr

B)  dfev - 1,2 - eoLgQem By erPedlein
C)  gyrerev - 1,2 - e @Cemm QB erpPellein
D) @ebpst egapbldme. |
Which of the following compounds has zero dlpolemoment ?-
A) . 1, 1 - dichloroethylene B) cis - 1,2 - dichloroethylene
C) trans-1,2- dichloroethylene D) none of these.
75. CphdergmiL ‘sré’ g CutpOs® : '

A fGurgGemmar B) CdS
€0 arérGar Hauy o D) ghs sre.
Pick out the positively charged sol.
4A)  Haemoglobin : B) - CdS
C) Congo red ' . D) Gold sol.
76. 2. GsEangse 2 srreoid
) wysef
it) Sigudlem

H)  ydete eird
v)  @eubper sgepbidae.
Gappst . o

A wlpd sflurerg ' B) (1) wbmd {if) mﬂwrrmmm
O W W whpd (Hi) sfurereneu D) (V) ol Gb sPurerg.
Example of adsorbent s =~ :

i) Charcoal
i) Alumina
i)  Fuller's earth

tv)  None of these.

Of these :
A) (i) alone is correct B) (@ and (i) are correct
C) (1), (1) and (il1) are correct D) (iv) is correct. .
x 16001 ' [ Turn over
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77.

78.

79.

28

wHueaTs Suuae HElubSpest 2 aer apadoapeans (Bg,r'r;j,@g@‘ :

A Cl, B CC,

C co, D) CHCl,
Pick out the moicule which has non-zero dipole moment :
A q, ‘ B) CcCi,

¢ cCo, D) CHCI 5

sflurenr Qimepere HEpiysdpssr Qpiig suflens :

A) HF> HBr > HCl > HI B} HI> HCl > HBr > HF
C) 'HF>HCI>HBr>HI D) HCl > HBr > HI > HF.
Thé correct decreasing order of dipole moment is

A) HF > HBr > HCI1 > HI . B) HI > HC] > HBr > HF
C) HF>HCl>HBr>HI ‘D) HCl> HBr > HI > HF.

NH ; eflgienu Gommar Hoiusdper
A) PH; geoLuwmg afl .gqé\éamrra, Bms@b
B) PH, geoLweng el @opaurs Gihé@id
C) PH, guoLwsh® &‘merras Smé&@h
D) .BF, guoLumg el goneurs Gméeib.
The dipole moment of NH ; is _
A) greater than that of PH; - ‘B) lower than that of PH,
C)  equal to that of PH, D) lower than that of BF,
B SeuUpT &7 cael |
1) aasl Crr@uryelleens el @dleaémen
i) Lﬂmnﬂ}gsfsrmm 2_GOL_LLIGT
) Nergripengd swddleipen
iv) amLanebvmé,Ggrre'meDurré\) aeflpres s Muiupdetpe.
Bleubguetr : _
A) () vlEd sflureng B) (1) wppd (i) sfwrearemeu

C) (i), (1) wppbd (i1i) sfhwrerene D} smarFgd sfluraraneu.

x 16001
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J; Hydrophobic sols
ok i - )  show electrophoresis ”

i) .j are irreversible

A  carry a charge

'%*5 ;- ) ;“ easily detected by tﬂtramjcrdscope
i} Of these: ')
.

fg’_ff

; A (?.) alplne is correct - B) () and (if) are correct -
" T.C) ~ {1}, (ii) and ({iij are correct D} all are correct.

81. - af@&&éﬁgmd)ua‘r ag sflude 2

i-: A)  Caen sigg @iy Br &1 sigmy w760s ol sfled
B Cadr sig e St s %7os o Gmpey
QO Casm g b T & gD TS ol oyflen
D) Ca &1 gy 2rh K o1 gy rsos ol ofis.
Which of the following is 'NOT correct ?

NA) Atomic radius of Ca is larger than that of Br.

h;‘. _B) .Atti)mic radius of Ca is smaller than that of Sr.

. C) fAto:mic radius of Ca is larger than that of T1.

) D) 11J’n:msmic radius of Ca is larger than that of K.

L dpsaaon_cuppiet ashe swallureb ebpe Sidan 1

!” A) s;ﬁ)u}r;air | B} syfamen
fo sﬁeﬁlm - D} Qgevre.
AR Whlch of the following is having highest ionization potential ?

A ¢ ‘! Neon B) Argon
C) *FHelium- , D) Xenon.

3. afbos,&.cn’m_mfplgjsﬁ &gl S a;i,g)g)gm_an QgrLirupns 7

il CA) | ughBOTSe Qeulid B) 2 @eurgé Qeulwid
EE 0 : goﬁwngm Qeuluib D) Ufiges sybméo.

| ¥ Whlch of the following is not related to lattice energy ?

," A “_,' I—_Icat of sublimation ' B) Heat of formation

‘H#at of vaporisation D) Dissociation energy.

16001 | ' [ Turn over
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84.

85.

30
dsp ® seufeorgd Spsaco abg e G&r‘re‘r,w}&,é@ FLDLOT &7
A) sp?+dp B)  -sp+dp? |
C) sp3+d D) sd+ p3.
The hybridisation dsp 3 is equivalent to a combinétion of
Al sp?+ dp | 'B) sp+dp?
Q) sp3+'d‘ D) sd+ p3.
Sywellt Liesory aﬂ@é,arr@ Spsaa ahg genfier Ble sflawrs o eerg
A} | H-F B) H-Cl

C) H-Br o D) H-L

.Percentage of ionic character is maximum in

86.

A) H-F B H-CI
C) H-Br D} H-L

Spéaaeson_eubpuet ergl eupTal QT HSSUILL Peferg) ?

ucigueéo I , - qu.uJéi.Il
A yGenmle — e sl TeT sHeutSne Q&':IT.GU'GTI_ gethob
B) @Q@eamrflen — Ble sifle: arauslyrer priLb Qaram g
c)  02- — aresLTe L dles wdiny g
D) Fub — Bla sdls @wwﬂmrré;@ 2boéd Clemeor 5asﬁl.mh.

Which is wrongly matched ?

List I List - IT
A)  Fluorine | - Most electronegative element
B)  Chlorine — Highest electron affinity
C) 02- - Zero electron affinity
D) Caesium — Highest lonisatloﬁ potential.
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i

f 31 . VITA

-a!’@#:ésa‘qn:md_}geﬂ adé uretilomentiy 2 Geurdysierg ?

; 3lA) j Gergélc'm : Bj Gurmest N T
2 C) ‘ smf.@un@qa‘sr D) @eubgiel qaqL&ehcmsu.
BMa bond is formed in S |
A *’ Eorazine - B) Boron nitride
L G ' ﬁlbomhe D)} none of these.
88. HCl (Burrg@grrguLm Cemid aflenas |
A) ; B Sigualler Cl1- ué.\a?@ Qetuiu L g6 ulesl@ aﬂmwmn@m
B) v N sigmelles C1~ ufleS® Qabwi . @ LSS allenamur @b
E C) B Sgaie Cl- Cemd i Caipd oﬁlahsoruJW@Ib
D]& N sigeller C1~ Cewd g Carge alamenurgb. -
: Tt:e reaction of HCl with borazole is a / an 7
A]'? substitution reaction where Cl - is substituted at the B atom
B)  substitution reaction where Cl - is substituted at the N atom
C) addition reaction where Cl -~ is added to B atom
Dj addition reaction where Cl - is added to N atom.
. | '89. @@ Seneiionn Heopds gmbsHerts brhppaushe &psadn abhs Naarilibe
I éé;gﬂaa iflens dper Comau@dlpg »
Al H, gpewdeafiigueion H - H Senemoriiy
: ‘ Ei) ' ACH4 ppadadiepsien C ~ H smasmriy
j Cc | 0, epavdanileyeien O = O Sevawiiy
f - I|)) E N, apavésnBlgyeier N = N Seneooriiny.
Whlch of the following bonds requires the largest amount of energy to dissociate
i | ll 1gnto atoms concerned ?
} { A) | H-HbondinH, ~ B) C-HbondinCH,
C) ;;0=0b0_ndin02 D N=NbondinN, .
| «T1602 l - - 1@1 { Turn over
‘ i _
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91.

92.

“VITA _ 32

LIF wppid> Lil é1 206 Heowsd wopGu 870°C wppib 446°C aaflé LiF & ofls
2_(hGHenwsgs HTyeiD :
A) seogyb Flper B) gran@gs alameney
C) perenateurdsd : D) Qeubper agapddamen.
The melting point of LiF = 870°C, and Lil = 446°C . Reason for high melting point
of LiF is '
A) solubllity‘ . B) inductive effect
C)  polarization D) none of these. _
srusflesr s grer seurdpefldr sfiurar grafasous CarbOs@ .
A)  SCgen < arfleleln < e eSeir B) uU§Gset < 20 elan < erflefein
C)  sQeyelan < adlelen < S5Caen D) <@Qagslean < 558z < erflofein.
Choose the correct order of electronegativity of carbon :
A)  Methane < ethylene < acetylene B) Methane < acetylene < ethylene
C)  Acetylene < ethylene < methane D) Acetylene < methane < ethylene.
Sigubseildr aasLgrar saitgamal urdedlam arash(ser)

) a@mﬂa’n Blesr@emtmL_ib

i) Sigaller @larhaeliy

i)  sygaler ugoe 7

iv)  @cubmist egepfldane.
Bleupgist :
A} (1) vi@b sflurergy - B} () wppud (1) sfurearaa
C) ), () w;bmjfo (ilf) sRwreTemev D)  (iv) vl @b sfurerg.

' Factor(s) affecting the attraction of electrons by atoms is / are

i = charge on the atom
1) hybridisation of the atom
1) size of the atom

iv) none of these.:

Of these :
'A) (i) alone is correct ' _ B) (i) and (ii) are correct
C) 1), (i) and (iif) are correct D) (tv) alone is correct.

1602 16001
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1 . . #‘ i 3 .

v 93 assu'u_;glsmm sre;é.r.'_grrsinasﬂﬁl_fﬁ CrweuBDd Qawhud 'a@ehas@ Slergurc Lib
o AJJ aditfler guefde LB aﬂ#aﬁ]aﬁ]gﬁﬁl& @®m&e@id |

B) ‘«-‘srﬂlhﬂah amsuﬂﬁﬁleﬁr' UBLEIHSE Ggﬂaﬁ]é'lgﬁ,é]é) ACLIGT

C)’E | ‘e@rhﬁla‘n a,wésﬂuﬂs& Umwenens srrl;rrr;g@@é:@tb'

D) ; | :aéma- ofensrancué &&Ung C®BSGD.

The effec_:tive nuclear charge operating on the outermost electrons s

© " .- A)' - ‘inversely proportional to the size of the anion

. B r directly proportional.to the size of the anion
In'sli. . ‘!] X N V
_ C) ; independent of size of anion

r ;

D) : independent of shielding effect.

-94. gaf@@mcq, sifleflLg agenmé 2
{‘ﬁ’i‘: . A)

Gt_ﬂﬁtﬁ\e&! et fer hiriflety a;wsuﬂui\%r éié,\m Blebrgpm’Lid

2
i

| @LFI)ITL&G&T aw.isnﬂuilc&r FN&0 LHLDET

B B)

[ER———

- Q) (ﬂ‘_ﬁﬁ’lﬂdﬂ Sjweilller Gephs 2 Heusrey . g

d

D) @eubger apefidcos.
Lf L Polarization increases by

"’5 L A) j high charge of cation / anion B) large size of cation
oo % s

"L C) ' small size of anion D} none of these.

o
. 95. a?@é&eﬁo‘n._ podsmpaiié g piCarean GuUlTHE augeab Cerear_g) ?
4 A) | SFg B) PCl

| Fo - o

Q) kIR, D) XeF,.

: The'fmol_écule which has pentagonal bipyramid shape is
A | SF, SR B} PCl
3 ¥

| IF, | D)  XeF,.

4 - R ';
£ i ' : 16001 [ Turn over _+ -
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96.

97.

34’
dpseco wpassmfle ag sp’ Qarbsaliuse HCULTE ?

A) CH, B) = BF,

¢ H0 D} NH,.

In which molecule sp? hybridization has-not been involved ?
A CH, B) BF,

0 H0 D) NH,.
FpsaTorLeupdlés arsH® 2iHle swellurhad BLbHP® 2 ereng ? |
Al  Ne B) AlY

< Mgt D) L

Whlqh of the follov_vlng species has the highest ionization potential ?

A Ne | B) Al*

98.

99.

C) Mg* _ D) Li+

aaorpd) eug gLt GBTLAyELLG ag 7

A PR, . B} SF,

C) TeF g N\ D] CIF,

The octahedral shape is associated with

A)  PF B) SF,

C) TeF, - . D CIF,

Li, K, Na wppd Cs fwucpder g Srsder wHisu
aufleratiuGdseyd |

A) Cs>K>Na>Li _ B) K>Na>Ili>Cs
C) Na>K»> Li>Cs : D) Li>K>Na>Cs.
The correct order of Atomic radju_s. of .

Li, K, Na and Cs is

Al Cs>K>Na>Li , B) | K>Na>Li>Cs

C) Na>K> LiSCs D) Li>K>Na>Cs.

sfluren
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R :
100 csunga?ssr?: .

) P n Quendgpi_ebr P TeudLTTed &mmumué& G\ﬁrrafurL.a

- ii)ﬁ @wr,nq uedTse CudFgusGE &b e G
1 -i.ﬁ)ﬁ CBaudhlue uaoyser QuatdfaiLBEha wTRILCL g
;'* o ) | Geitdams elomarsenshe o uGApg. |
.. : i @mpgym :
. ' A ) oL (i &lﬂturrcdrgj B) (1) whmud (1) sfhureranc
: l iCJ (i) (11) wppib (il &rﬂu.ursurmm Dj cmsmasr&,gl;b gflureraney.
8 . Borazine s | |
o) B ,‘is isoelectronic with benzene
J, if) * has physical properties similar to benzene
5 . iii):L " has chemical properties diﬂ'erent from benzene
il ": iv.)' readily undergoes addition reactions.
O_f these: :
;A) (i) alone is correct , Bl i and (ii) are correct
C) . (i) and (iif) are correct D) all are correct. -
101 @uurrurrsm@ul_ aneuld 6Ths Gmﬂnﬂmmuﬂaﬂ@ﬁ)g HeoLb@h 7
) .\ CaCO + H4PO, B) Ca; (PO,),+ HCI
¥ Q) csaaj (PO ,},+ H,SO, D) srgumqmm + @u&w.
:i;j Superphosphate of lime is obtained from the reaction of
*iA)  €aCO4 + H PO, | B) Ca, {PO,),+ HCI
;éj'C)' Ca3(P0 ) ,+ H,SO, D) Bones + gypsum.
102! 5"%&@ X @Qran B QureLsemer SG55065 1 Opbs , N o scdvg. Gbs
. . aﬁlmuﬂm priss@aild o der Kyl grerssisr acnalsoma )
.?‘E‘Ai' 6 B 2
; ,‘f o 8 ; D) 9.
Number of neutrons ln a parent Nucleus X which gives N !4 after two
successive B emjssions would be
*A) Gi o B) .2
l F 494 ] x FIGOJ 16001 [ Turn over
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103

36

o0 sgifluss Gurealdsr Gefloan Grand wLhusTs &@wﬂagm@urr@gﬂ B
Siedld Hegan Sigmsseafd aeioenllbemns euug BEHESD

A) @ueaad wohers sHefegn

B) aanafsos @uamGaleuew @ﬁ.&&m SieTey aqéle.r_ﬂéa@fn
C) <ePfaflagd cg,esa:sr.rrc.'\.) Guu Sienalics Seoew

D) ebs g LIHOWD GiH&HsTE.

‘A‘)

104.

When the quantity of a radioactive substance is increased two times, the number

of atoms disintegrating per unit time is

doubled
B} increased by square of two
C) increased but not to a greater extent
D) not affected.

afleusrug gopde Hpsacor plsrCmiyssdie ag afipep sflaurarrsd

uwetuSlpg 7
) e
i) 13C
i) 3N
iv) 32p
- Geuppret
A)  {iv)ul @D B) (i) w @b
C) ). (i) wpgd (iv) D) (). () whpd (V).
Which of the following isotopes is / are used as traéer(s)/in agriculture ?
1) He |
w 15C !
) I8N
vy 32p
of ‘these : ,
A) (iv) only B) (i) only
C) . (i) and (v) D) (). (it) and (v) .
16001
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105 efpa,ascum_ adedmbe Yep CLrafiud Qupln@fpg ? |

HOOR o arg B RU

0

ot

C) : %32811 : D)  @eubmsi agqﬁl&mm. :

From which of the following plutonium is obtained ?
wU
e

¥ Q- ﬁ 23"E’FU D) None of these. .

106 g@mrr@t.rrsmsmmg, Catha® :

‘ "f A) 3 lNa. llNa ‘ B) ?Hs g}le
Ei ‘0 e e - D) $H fHe.
IR [

b4 i

i Pick oﬁt the isotones :

iy

SR

11’Na- 3iNa | B) $H, JHe

Ve, Yo . D} 3H. jHe.

107.. aa@aﬂmé_'ﬁa.ﬁ, 566“[.0&9_:61"[. areng Geuaflalimg 7

B

L A) Y asdiee B}  podise
A :
F Q) ; Y &S &6t D) yGpmiiménee.

R
1t
1t

; Radfbaptive substances do not emit

! A) 1 o Tays ‘ B) Prays
bk i F]

i 4

v 2 C) i yrays D) protons.

08, U 238 oo Th 230 Qeuafleneniles Qmaﬂaﬁh__uu@m ambmj&'ﬂgmsﬁ&:aﬂs&r

A 4w 2B B) 4048

; '\"-C) 1o 4B D) 2a2B.

g il

' How many o and B particles are emitted when _, U ?*® changes into , Th **° ?
T '
LA 40,28 : : "B) 40,48

v Cl Y lo. 4B D) 2028,

ik - : - g
I (A i
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109. qpemer a,eﬁmrfmq&@,ﬂ LwesuRD spGarGLiminy
A) H 3 B) cl
C) ,Cc" D)
Isotope used in Brain Scan is
A) 1H 3 ‘ B) c!!

‘ Q) ec 14 D) Hg 197

80
110. pssdocubpper  ahs 5wﬂm5§§\é DTW srdo'r. 2 oLw YGrrLLmens@sid
By grersEpb 2 eieren 7 '
A ,Ca® ‘ B Al 2
Q) LFY D) 801'7.
Which of the following has magic number of protons and neutrons ?

A ,Ca* B LAY

c ,FY . - D} 0.
111. 2 gisel slqursmse GlGés GCatsauu@ip Sl LT B 7
A) 'Iurrri'mrrmis}mgm(g _ B) une‘ru@u}'_'
C) eplGrl D) H,O.
Anticaking additive in fertilizer is _
A) forrﬁaldehyde - B) phosﬁhate

C) nitrate | D) H,O.

112. CAN g®
A)  urenGul 2. ‘ 'B)  eoplygen 2gb
C). Oumiirey 2 b | D) @éjgb@dr argieybleoenen.
CANisa '
A)  phosphatic feWer B} nitrogenous fertllizer
C) potash fertilizer D) none of these. |

x : 16001


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

: ‘*. A) G\urrL._l_rré-\qu smg_u)L_ljgsur uren@ul. B)

."_{

A‘ C) G\urrL_t_rrmSlsm K §) (¢
- Which’ of the following is a potassium fertilizer ?
:AJ Potassium hydrogen phosphate B}-
T Q) ’i‘artrate of potash |

39 , VITA

. .af@a.aaawn_mg)@eﬁ &gl @umiLréluib 2. JOTGD 7

Gurrl_'.l..rré\mtb urenGui”

D) GurliLmeaben BSiyGy.

Potassium phosphate
D) Murate of pota_sh.

cutguwd I ulmmé Ile2 1 e CuTGSH, aCy QarG&siu Pefren @@ﬁ@mmeﬂé

- anc&ﬁ@'i&rﬂmrrm alerLeoup CaibGa® :
* R R T T  ulguwé I
i %\) ‘a;ﬂ)@wrrcoﬂmmlmgfr_('égf_ 1. 26:2% epLygmes
b) SbGureiiubd GGarmerQ 2. 46-7% epLymen
0 SuGuorefub s 3. 35% evpLyggehr
: h) g,rﬂu.m' | ' 4. 21-2% evplyegedt.
@gﬂuf@am | )
_ ga b c d
; A s 1 2 a
JeB o3 1 a2
‘ g sy 1 2 3
D1, 4 3 2
Match List I correctly with List II and select your answer using the codes given
s below
A List I List 1T
a)  Ammonium nitrate 1. 26:2% nitrogen
, b). Ammonium chloride 2. 46-7% nitrogen
. - 7 ¢) Ammonium sulphate 3. 35% nitrogen
1 d) Urea | 4. 21.2% nitrogen
. - 1 Codes:l -
o e’ b ¢ d
S0 A T30 1 2 4
Lomlsl 1 4 2
oo 4 1 2 3
om0 3 e
Ix 1602 l [ 16001 [ Turn over o
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115, yep Curnaflud o
A) T hHeene® - B) sy sgemet(
Cl @QeLbloa gallnhised - DY @eubniet argeyiidiene.
Plutonium is a/an
A) Lanthanide ' B)  Actinide
Q) Transiﬁon metal D)  none of these.

116. ehp e EDTA 2 Leit cugneurest gymaoiaé Cotwpeang L@mné@eﬂmg} ?
A) Lu¥ | B) Ce 3+
c) pr¥ - D) Nd?®.
Which one forms the strongest complex with EDTA ?
A} Lu® . B) Ce?
C) Pr? ) - D) Nd?®.

117. Spssaa_cubpet ag @G&;euﬁg, +4 %éaﬁlgemrj)m Powaous sGHDE 2
A) La | : B} Eu ,
C Gd D Ce
Which of the following forms a stable + 4 oxidation state ?

| A) Lla B) Eu

C) Gd | - D) Ce.

118. andigaar® cwlansles, Gd $glhe SdhHmaurar ey 2 eieng..glarepre
A)  Afurd) Rguutu Gereng B) 4fsrellurs o eierg

0 Afpyeovurs Riptulu_@ererg D) @mﬁ)@a‘r‘ e gedleuenen.

In lanthanide series, Gd. has a 5d’ arrangement which is stable because

" “A)  4fis half filled o B)  4fis empty

C) 4fis full D) none of these.

«[1602] o 16001 |
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119 mnmgmm@aaﬂm @emrHlaud Sphaa 2 Us oL BITiLge b
n!i ‘

Ju af B) 5f

o sa D) 2.
7 Lanthanides are characterized by filling of the subshell,
| ;: % A) 4f " Bl 5f

“i o) 8, " D 2p.

| ,120 Qg,mqmm@&a’ﬂm + 4 galy LHD %mqﬂgGmr_‘om Hleme

it 6 : B} +3

B
+2 D} +1.

g

ﬁ ' The oxidation state shown by actinides other than + 4 state is

“A) :}.,. 6 _ B) +3
e ) g,+2 D) +1.
, ;- . _
_ 121 é’pmémummr_ﬁlm srgj sugut&&.&a mefl 2
A) CF B) H,0

CN- D) NH,

o Which is strongest ligand ?
it i
i A F" B} H,O

) j;i i , o )
¥ TN R
ls v C) i 0151 _ D) NH,

il122 '[ Co[NH g1 Cl, actiugy erahe aHaber_ B 7 |
N
.-,g 4

U . A 35 Gg;mﬂséfr Seemays Qe B) @ureoL 2y

W
'
;; ‘aglinbicr e aqe‘mmaqa- Gsthioid D) gl spdeibd.

[Co(NH )g1 Cl, is an example of
| cationic comiplex B) double salt

i anionic complex D) Lewis acid.

i i . + [18001 { Turn over
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123. dpésetor_cubible Simemia) Geingoms SGD afear 2
A omd sled whois Syrerdu L. sryapb Gemb edeme
B) . gmil sflewb wppid gl srjeph Cenh aflere
C)  gmd sryd wppd Nyrearever. Sblagpid Camd alenet
D) dgrereui . eubleb whpid Hyrerdu i s Ga@n aflener.
Coordination compound ié a compound formed .from a
A) Lewis acid and a Brbnsted base |
B) Lewis acid and a Lewls base |
C) Lewis base and a Bronsted acld

D} Brionsted acid and a Brionsted base. . _
124, CrCl 4,6 H ,0 4@ 2_ster $CgpHo ( emang Gy ) wrpdluiissiler adnaiisans

A 3 B) 2

C) 4 D) yguwb.
Number of hydrate isomers possible for CrCl ,.6 H ;O is

N 3 B 2 ‘
C) 4 : D}  zero. |
. 125, [ Co(en]), Cl, ] * QeueflLL@sgicug

A)  @ewly wrpBlubd wl Gio

B) gefdluc wrhdlub w .G

C}  Sewiy whpibd spefbiug wrhHiub @Gyo@io
D) @eubmei ergaybléveney. | _ '
[Co{en), Cl,]* exhibits '

A) geometrical isomerism alone

B)  optical isomerism alone

C)  both geometrical and optical isomerisms

D} none of these.

X 1602' 16601
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126. EAN 5515\‘ é@mﬂm Geeond Baitey Gail
A IM(CO))
o _1N1'( NH ) gl *?
Pick out £he. one obeying the EAN rule :
A lNi(CO“]

¢ INM(NHg)g)"”

VITA

B) [Cr(NHj ) gl"?

D) [CoCl, 7%

B) |cr(NH3)61+3

D) [CoCl;]'z.

127, EpsacmL FlicLrésdé dsp 2 Qanbseiiie FOUGS B 7

A dxz;yz
Q) d;y.

B d,2
D) d,-

Which of the following orbiials is used in dsp 2 hybridization ?
. |

A de2_y?
c) d

128. rrv,rra‘sr(g;é,\,;mqm g ye Iflesuen e

A g
B 2
9 s

D) " @eupguet agiafidenc.

B) d,2
D) d!"z .

wL_kig satoapd) augal UGS LS tS\uﬂmaaﬂ.lemL_ggués@é gl
oG SFTpE aIge LGS LR SflenaumL SeIses Fwb

oL g aaepd aigal Lgs LS SfesumLpSEF SO0

The tetrahedral crystal field splitting 15 only

A) —19- of the octahedral splitting

0) - % of the octahedral splitting

B) 2 of the octahedral splitting

D) none of these.

| Turn over
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129.

130.

131.

132.

¢

44
&peastor_cuppeh ehp emamieays Gefwb BaC‘l2 2 L afleveryfihg Qeuciorenid
Biph QsneoL afpLgenaid sGd 70 ¢
Al [Cr(NH,) ,80,]} Cl B} [Co(NH,),Cl,} NO,
C) [Co{NH,) 4Cl] SO, D} [Co(NH,) ;SO,] CL

Which of the following complexes will give white precipitate with BaCl,

solution ?
A) [Cr(NHs)SSO4]Cl B) [CO(NH3)4012]N03
C} [Co(NH,) ;Cl| SO, . - D) [Co(NH,) ,SO,] ClL

Fpoado abs aqmmajé Qemwd sgy Nydl@ chﬁmmﬂmué& Qara_g 7
A Ni{CO), | B) Fe(CO),

C} [Co(NH,) gl(NO,) 4 "D} [VO (acac), |

Which among the following complexes has square pyramidal geometry ?
A} Ni{CO), B) Fe(CO)y,

C) {(Co(NH,) ¢J{NO,), D) {VO facac),].
FpsadaL Catohsala aas Lysoréad Woapdd griamoliu@sserd ?
A)  yflur B} eon Gy Querden

C) eppend ‘ D) Quende.

Which of the. following compounds can be purified by crystallization ?
A) Urea B)  Nitrobenzene

C) Ethanol - : D) Benzene.

sameanfileligieten QuearGsmilé siflepas AfiECREe LuSLED e 7

A)  ughsLTE ' B) JSevens smusdaigsss

O  dyralurd snisdl aDeHse ‘D) Quendanr Qena) @péHss.
Benzoic acid in water can be separated by

A) sublimation B} fractional crystallization

C) steam distillation D) extraction with benzene.

«[1602 6601
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1 133. 3 29 eﬂgrrm soGlLyeiy a;w(‘swrreuﬂu.xm s@ul ugsd 100 ) e& Bl seordeiulLg.

_!;i'k%"f 5gu3 urrrr&,g.aﬁ\m Gurgy 20 5.9, syerey GEsogsome phdigoirs 2y &aflgpCeanhHiphd
I Q&l[.llur 20 81.65. KMnO, smyed GperauiniL g aaid 1 it o sabgeien

KMn(j)_4 et Hlewp

; A]i 315 &lgmip B) 15.7 dgmd
| C);? 157 dgmd D) 3.15 dymo.

3-';;9. 'g of ferrous ammonium sulphate is dissolved in 100 ml of water. 20 ml of
this- solution requires 20 ml of KMnOQ, during titration for complete oxidation.

Bl

The weight of KMnO, present in one litre of the solution is

: '_A)g’ | 31 5g B  157¢g

01: 157 D) 315g.
. mr;l__mgur aetr. 42 Gles augsLL peSTenbuTs 2 LGUTSILRSDE

A]%?f ég(g@m_.rrm gle 6l el B) medmafiu afjpuigapser
C);}  Bajplod &mq&ébaa;ﬁ D) @eubper ﬂ@dﬁémm.
W!flatman No. 42 is mainly used for filtering
A):; coarse particles B) very fine precipitates
C)'g - colloidal solutions ‘D)  none of these.

. Grl_f@ HED PSHDTND rj,\u.uomrrs. 2 LQuTsLILPSSILBLG @)cemes 7

Al S bevrells Sifleud B) Gemguwid sriuGer
C) AgNO, "~ D) NaOH.
V\fhich one is not used as primary standard ?
A) Oxalic acid ~ B) Na,COg4
c) AgNO . - D) NaOH.
. . G\urrL_t_rreﬂuJu: OL&GEITCL g6 e sl a5h&E 8w 2
) N APVESND) STl fheuSHGam)| ETeOIL
. ' Al i 2 B) 3 ‘
. C) | f‘l,pﬂ)&':&u? e D) Q.pm&\&n.eﬂ erevL.
The equivalent weight of potassium dichromate is equal to :
- Molecular weight Molecular weight
A) B - B 3
;4 . Molecular weight Molecular weight
4. $ :
+ i L - .
;} x| 1802 16001 : _ - [ Turn over
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137. Spsaaoe peonseaild asar qpeb Spyyd GTuLILESSILGEDE 2

A) LY BLTESE - B)  Uereriig soméese

C) usiswLIg® ' D)  upaysseursdl.

By which of the following methods is camphor purified ? ‘

A) Crystallisation - B) Fractional crystallisation
(o} Sublimation D)  Adsorption.

138. Sereumiv Qleweaselle ehs gty alpugamrsssdpe Hurfle QeuuiLGadoame ?
A) GLITET HeOFae - o -
B) QgrLihg sosb@se0
C) ealemrallu sogsd
D} efpugairsdleow oUELLTsgwTs Ceatpge.
Among the following the one that is not recbmxﬁeﬁded for precipitation is
A) hot solution
B) continuous stirring
C) warm solution X
D) addition of precipitating reagent as a whole.
139. sorpg Cuuelseramige aamp eufipeann Ceatwhisaer
A) saflggeiurs INsCs0e60 aflpapured
B)  ugsoréGh aflpenurgbd
C) empy @nésclar anflapenpur@id
- D) emiéd) eanggelesr cuflperpuro.
Elution is the process for ' 7
A)  separation of compounds - B} crystallisation of compounds

C) extraction of compounds ) D)  distillation of compoutids.
140. g sfog dHavwsder grieovou &Cp ePullLappest aomgs Qeram®
@frmuﬁ]é@ssurrfo' ? | |
A) = iHd B) &flw a_@@@msé
C)  Qerdiflo ' D) apewésamy B,
The purity of a solid organic compound is determined by

A)  density B) fixed melting point

‘C)  boiling point D}  molecular weight.
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BhHe ap.ﬂa)l.b Quendgu_er Cotpg alevar Lyflw Gmm@@mmg)rrm 63f5§5: cg{L&s\Jm
¢ e Gprlaedd Qupss CamnBn 7
- A fipsgraabd whpib eefitalsaiulLgraab Qoss Caca@id
_B)  prsgarsad whpn Qeuliu@sdugsrseyd @@ée&l GeuasoT(HD-
C)  Oatuitu@sdu st ehss sblenrs Emes Gm@s’créxb |
" D) ég)[bl."_lﬂé; SbaG et Hahs saawTs BHéHs CouaiHb.
Behzene reacts with H,S0 , only when the acid is
'A) dilute and cold B) dilute and hot
.C) ' hot and concentrated D) mixed with HNO,
142._ wm@gs\; sﬁ\cmm@mm- fpsacoL. Qaredade ag TRELTETEE HeTdpg ?
A) -CH,' | - B) -C,H,
0 (CH,) ,C- | D)" -CH,
Which of the following grbups withdraws electron through inductive effect ?
A -CH4 R B} -C,H,
.‘bC) (CHg) 4C- D) -CgH,
143. fpssco. smtGurafui agwsoﬂ&aﬂéo L&&, G@ODES PSSO 2 L LG & 7
A) CH,” - B) MeCH,*
C). . Me,CH* D) Me,C*.
Which of thc following carbontum ions is least stable ?
A CH,"* Bj MeCH,*
Q) MeCH' D) MegC".
144. qu;rrruuewS]cm 'sré}ﬁunﬁﬁg,mgaﬂl_' i85 PlaralissaTain 2 @ LuShE STyeorid
A)  gramBaé allemena
B) = 2 L aflangay
-;C) ﬁséwcqmm‘ﬁé)mrr 2 L aflemaey
‘D) SCemofs afleeney.
Propylené is more stable than 'expected’ and this is because of
| 4A) . Inductive effect ' B) Resonance
; C) Hyf)erconjugaﬂon_ D) Mesomeric effect.
1602 ‘ . 16001 . ( Turn over
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145. anpapaneadien sflure Gpiie aflos :
A  goyioas b > o Nmeasd sfldn > siefedes
B) e laad s > gfldar > geonlamad spfidt
C)  sefilen > gy dler > e Seneands ouflen
D) safddar > e daends sydle > q.m&ﬁlmeméo Sylei.
‘The correct decreasing order of basicity is
A)  triphenyl amine > diphenyl amine > aniline
B) diphenyl amine > énﬂine > triphenyl amine.
C) aniline > triphenyl amine > diphenyl amine
15) aniline > dipiienyl amine > triphenyl amine.

146. g aamad YBrrouv®-Sinha Sy2 aflyopilé Hoomed HCuraL o

2 Gunb@h serewe aufleslL@bg

"A) t - BuBr > t-Pr_Br'>EtBr>MeBr
'B} (- PrBr> t- BuBr > EtBr > MeBr
C) EtBr> (- PrBr> t- BuBr> MeBr

D) MeBr>EtBr > { - PrBr > t - BuBr.

The ease of formation of alkyl iodide from alkyl bromide by Sy2 reaction is of the
order |

A) t - BuBr > i- PrBr > EtBr > MeBr
B) (-PrBr> t-BuBr > EtBr > MeBr
C) EtBr> (- PrBr>t- BuBr > MeBr
D) MeBr> Et{Br>i-PrBr >t - BuBr.

147, Spssao_aphie ag sfures Quredsiu eeng 2

A) SO, - - S(B&eUT e
B) BF, — TsLpTE seut sy
C) CH;-C=C~- — . TasLgTe sl syl
D) AICl, — SH&HeUT SHrFessi.

x ' 16001
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49

Whjch of the following is corrertly matched ?-

Nucleophile
Electrophile
Electrophile

Nucleophile.

VITA

148. a?gpasaasdmme@m gl BCer @i allemereneus s HHpg ?

Cl

L B]
CHj .
,CHs
CH
D’ i\ CHS :
W I’Which of the following shows mesomeric effect ?
i’ : CH3 Cl
LAY B) @
s o :
T 3
. 1| - cH, ‘ , CHgs
o D) - ™ CHy
S Ol
14&5.”6’5@-&,56&&_ ,Q’;er‘rmriua,aﬂé: adé Be sdle Gop ey ¢ ererg 2
[P I 1 ; CHS :
i x_l H3C—C=CH:- CH3
i CH,
iJ 2 - CH,4
: L | D) clopentane (C. H,.) .
- ) CHy - CH,-C = CH, & 510
% : R . i
. Z' Hyperconjugatlvc effect is maximum in
- 15‘:-‘?‘1 | : CH, :
O R HyC—C=CH- CHg
“F'A). CHz-C- CHg. B) | _
L TR
. :r?'.:ii: ‘. = ; * CHS
1R o I D) Cyclopentane (C; H, )
b T CHg - - CH, - C = CH, yelop 5710
BRI I -
bl E :
, xl_;_qt_?z_ ,- ‘ q 16001 [Turnover 3
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150.

151.

152,

163.

Spsecaanile ag s@maart srgasil e 7

A) NH,

C)  AlCl,

Which of the following is not a nucleophile ?

A} NH,

C) AlCl

50

Sflepgarcwliar sflurer sreaufiens :

A) Ph,CH>PhCH,>Ph,CH,
C) Ph,CH,>PhCH,>Ph CH
The correct order of acidity is

A)  Ph;CH>PhCH  ;>Ph,CH,

C) Ph,CH,>PhCH ,>Ph CH

B}

D).

‘B)

D)

B)

D)

B)

D)

HSO,"

HO".

HSO,~

HO™.

Ph 4CH > Ph ,CH ;> PhCH

PhCH , > Ph ,CH , > Ph ,CH,

Ph ,CH > Ph ,CH , > PhCH ,

PhCH , > Ph ,CH , > Ph ,CH,

spssaoLeuppet aifluorer sflesangs CarbOsd :

A} HCOOH

C) CH ,CH,COOH

B)

D}

CH ,COOH

C ¢H ;COOH.

Choose the strongest acid among the following : L '

A) HCOOH

C) CH ,CH ,COOH

2 L& HEUBOUTEI&6MN, '
4) gmi sblemser

0 eveliLi owelae
Nucleophiles are

A) Lewis acids

C) Zwitterions

x[1602]

B)

D)

B)

D}

B)

D)

 CH 4COOH

C ¢H ;COOH.

gl énulﬂ&eﬁ

Gleubmiet e giapbldrenen.

Lewis bases

none of these.
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154, afgp‘é;;éa@'zm,_ é;‘_ég, ey srasCrroindls alamere; Qeuafliu@ss Gueorst 2
Al -%e'\:sfsfsis,efr | B) & Giremrsen |
C). %@q@gﬁp@&:eﬁ : D) maisel.
" Which of the following cannot show electromeric effect ?

-~ A) Alkenés_ | _ | B) Ketones

T

o) Aldehydes D)  Ethers.

155 ( CH,1, CH - CHCl ~ CH , aietrp Gaituoid cs;_gase,gx_rgfrsﬁla KOH 2. aﬂmmqrﬂgg
§lj'E:Bn.lq,u.l aflevenQurmet ergy 7

A (CH,},CH-CH=CH, B). CH,-CH=C=CH,
Q) (C};3),2C=CH-CH3 D) CH3'-CH2- CH=CHCH,
The compound (CH ) CH CHCI - CH , reacts with alcholic KOH to igve
A {CH, ) ,CH-CH=CH, B} CH,~-CH=C=CH,

.C} (CH3) C=CH-CH, . D} CH,-CH,- CH=CHCH,

156. q@grrud‘m Hl 2L 6 aﬂmmqﬂgg 2 CaryEyTUsnLe @;@mrrem;..@g@ g@éﬂm@ Bibs
Qeiger aflwandies n-yGyrioud JCureL( 2z Garudoome. goaals Gbs
" ellemen y '

" A) Sifle Dol gsadrann Qaran. it Cpr sweh euflurs naLOupHpg

. B) .gqgl& Blevelyssdrans OiareinL gaf L@DL{ auflurs m@;@ug&ﬁm@

C} .-_9;;5\5 leneoliLi e et Qcﬁrrcuam_. sTi0 et sl eufiurs perLQuEng
'_i D} @mpg}m e gieyblévemen.

Propene yields isopropyl iodide and not n-propyl iodide as the major product
: during addition reaction with HI because addition proceeds throgh

A}  amore stable carbonium ion B}  a more stable free radical

i C)  a more stable carbanion D) none of these.

IF 495 I xm : 16001 | Turn over
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1657, Spseoii ahg gpeipree C-Br Olenastiullest Slerey o hnés @emmeuns Gymédlng 2
A)  C,HBr  B) CgHgBr . -
C) waleanw Nyl eld yCrresn® D) pGsryGyrieued yCrmew®.
In which of the following the bond dissociation energy of C-Br bond is the least ?.
A} C,HBr B) CHBr
C)  Tertiary butyle bromide. D)  Isopropyl bromide.

158. fla alflwwrear sblesass Caibbs®

_ COOH |
A) B) HOOC - COOH

~COOH . -
C) HOOC - CH ,- COCH ' D) "HOOC - CH ,- CH,- COOH,

Choose the strongest acid :

_ COOH

A) _ B) HOOC - COOH .
~COOH

C) HOOC - CH ,- COOH D} HOOC: CH,- CH, COOH,

159. sflurer grau@as allomaals @nhe syeuflas :
A) -OCH,>-C{CH,),>-CH,

B) -OCH,>-CH,; > -C(CHj,) ,
C) —CH3>—0.CH3>-C(CH3}3
D) -CH,>-C(CH,) ,> - OCH,. - .

The correct decreasing order of inductive effect is

Al -OCH,>-C(CH,)», > -CH,
Bl -OCH,>-CH, > -C(CH,) ,
C) -CH,>-OCH,; > -C(CH,) ,
D) -CH,>~C(CH,) ,> - OCH,.

x | 16001
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" D)
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ﬁi, f
o - the major product is obtained
O

w..;‘.A}

Ui

Vw

i

i

w C)

1

i‘ D)

dy - '

-;.;'1 T I 53 VITA
i *3

i i HaC - - 3 el

; ,3] . Br . 55'0

G\u@wunmmmwnﬁe& aﬂm{_.e,aﬁlmg) aflemertiQurmet argsn apeid GLpLLEHDE 2

ey

i A ﬁ&&, alemest

L!. - '_}3) ué\eﬁL@ 95}66196!

6&5 Never whpid LA G efeme

5&5 aflemeonyde, LEISLE allaraTywee.

5 i

. In the reaction,

"1 H | CH - CH NaO%
HyC- CH-CHy e p»

? | CH;CH , OH
y Br 55°C

:

by el;nﬁnation
by substitution
bcﬁh‘ by elimination by substitution

neither by elimination nor by substitution.

. 161 s?gp&&:eom_ flement Ll e G)e,rrco‘m_. Qe floresefldas GLuwrpp ellmarseid U

L Glueurg @smu@msu &g 2

:‘Aii
R

o

ﬁ“=

S sréln’ Sjuef] B) sefl 2_puy
1
aan'f'ru Crit el D)  Querenaes.

Which one of the following types of reactive intermediate is not prone to undergo
; rea:jrangemg_nt ?

Carbanions : B) Free radicals
- Cari)océiﬁons D) Benzynes.

i 16001 [ Turn over _
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. 162,

163.

164.

165.

54

on Qeuiubieneudié m&é@m&@@&@&s&r' WPassan ahs egesus enindld

o _elreng ?
A) L eugeud 'B)  wppsdu uLE augeud
C)  cueaTu&EgWw GgeID | . D) prpemedl eugeud.

In which conformation the cyclohexane molecule mainly exists at room
temperature ? ‘

A) Boat B) 'I‘wist.-bqat

C)  Flexible | D) Char.

D& oo eubpyel erg,:i s fombs semaou NNSCsH6ED wapuTEd ?
Al URELTEGSHSH B) Jenieriig siomré@se-

C) Quibdgsare dfigsc ' D) Luwreddlen.

Which of the following is a method of resolution of racemic mixtures ?
A) nystallisation B)  Fractional crystallisation
C)  Mechanical separation : D) Dialysis.

9_@@ oL ueSUILRSSNIGEG Spheeosuppier g HlunwTsl uusu@Hng 2
A) - e@&Garedy B) erégé sibled

C) dlefeqregerand . D)° criterfis epbleb.

Which of the following is used as the standard for classification of
configurations ?

A) Glucose B} Lactic acid

C)  Glyceraladehyde D) Tartgric acid.

n fremowhn SiFuen @4@&55& 2 _eiten pevsampalar dueflur gGevmotseflen
&1 o1 TN 60 & '

A 2n | Bl n

C) n+1 : D) 2n+1.

The number of stereoisomers for a molecule with n ésymmetric carbom atoms is -
A) an B) n

Q) n+1 D) 2n+ 1.

4Bmﬂ ‘ 16001
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166. e‘f@é;&cc'm_@gb@eﬁ srﬁ';g, ey R @HUIH Geresti augasmplienus Qomaom. g 2

. COOH H
———%——— B) HO-—— CH,q
COOH
| COOH.
__}_ py HO H
COOH .CHj
Among the following the one that is having R configuration is
B COOH , X
A) 'HQ —‘}— CH; ) HO —+>W CHj;
- H | COOH
CHyg COOH
o H OH p HO H
COOH ‘ ' CH
167. duwpgo lorplutiseer sugealles seéeb e
Al sufleow Bl  JGsr wrpdlu By éab
C)  QereardiGumot g &eb D) & fhomisé &eemeuttéead.

The process of mixing d-isomer and l-isomer in equal proportions is called
A)  equilibrium . B) mesomerisation

C) enantiomerisation D) racemisation.

168. &psraaLcipblé adéo fev-igymerev wrr;brﬂu.@ BITGOTLLED 7

A)  s&defs spbe B) orégsd spbed

C} 1, 2 - o QnrCwr #HGsebr D} 1,2 -ouyGyrGor wider.
- Cis-trans isomerism is seen in

A) succinic acid ‘ : B) lactic acid
© 1,2 - dibromoethane D) 1.2 - dibromoethene.

x[1602] L 16001 ‘ { Turn over
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169.

170.

171.

172.

56
gpefa phH & wrpblud smag
A)- n-UyeoLé gletrany(® B) rfloesu Ay gGearrang®
C) - waloarw Syl d GBeamreog® ¢ D) QGM Hyenico @RBenrenr(. |
Optical isomerism is shown by |

A) n-butyl chloride B)  sec-butyl chloride
C) tert-butyl chloride D) isobutyl chloride.
gpseao Cerwsdle 2 erer sTTLEIHST ahHS USWTET GRTHHOULSS 2-LULL§ ?

CH = CH - CH ,~ COOH

)

A)  sp3wpmibd sp- : B) sp?uwl(@b
C) sp3uphmd sp2 D) sp3 sp2uppb sp.

CH = CH - CH ,- COOH
The type of hybridizations exhibited by carbons in

A) sp3and sp ~B)  spZonly

C} sp®and sp? D) sp3 sp?and sp.

Qeuoa feliysdne adé @i uFle @ Quenélaic siflawrs EBsGDh 1
A) o tpCsm wrhHdlud . | B) QuULr orpdwd

C)  urgr wrpdlub ' D) @eubpist ergieyldlévene .l

The dipole moment of the disubsﬁtutcd benzene is maximum for

A)  ortho isomer - : B) meta isomer

C) para isomer D) none of these.

Epbeao gail 2 puiysbseid® s dloeurarg eag

A)  CHy B} Me,C’

C) EC D} Ph,C'.

Which of the following free-radicals {s most stable ?

A)  CHy | B) Me,C"
. Q) ERC | D} Ph,C".
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3173:7 aarrrr?%urrwﬂu.lm Swed
‘ iz;/'g; A) iﬁ; @rrsur@éﬁ 6LI4 QULPEOL WG| B) wéCarem mq,éﬁ@m:_mg;
: ;‘!f: * C) FIDGEMDHD CLpEUS ) Sjuest) D) edlt tﬂa}mmm L@L_u@.
ii., k Cart;omum fon is ' '
peoa) atetrahedral | B) trigonal .
i ; ‘C) znon -planar molecular ion D) negativcly charged. -

4. umgpsmwmg)tp srirGuiresiiuib .g{tusuﬂ TS @gﬂ&,eﬂg)gi 7

Moo Al &LD§6‘H{B[D§T_) s Qurm (Brj)rr.g;mwﬂ B) swgenopp sriCuraiub suwed
.' C) @mc&ma&a&um_L_ a;msbﬂ - D) @Gﬁ)c&ﬁtéx&uugng, Sjwe).
E R L3 . -
b Non»c}assical carbontum ion refers to
B A) non planar carbocation B) non- planar carbonlum ion
e bridged ion E D)  unbridged ion.
&f&pesasmn__ “emiGurefuib Syefllé erg ifle @smeoqu geteown QuUHDG 2
*!l t,f H + . ;A.
i ‘ H
PR
Wi s S +
tﬂ!{ *C) [E;Hs 9 CH D) =CHCH 2
“L.i,‘- $ = : .- ’ s
3,
W "“Which of the following carbonium ions will be most stable ?
. + Cd '
k ; A CH, | | m  CH CH,
‘ii%s . i "' ' *
Ty (cHY, D) CH, =CHCH,
f‘:-; ! ¢ !:’ |

176 s,rrrru Gré]rr cg{weuﬂuﬂcm ;ﬂmmqugmmwuﬂm &rﬂturrsm eufleng :

A) @rﬂmmw sl > sflenamiu guefl > apallanamu suwef]

b

f B} . @aﬂmmm el > rfleveory ol > @ﬂmmm e

' 3}5 - C) @aﬂmmm e > ghleneronu el > riflenesmu spued)
h

D) :,i nrrﬂstncwrm Swe > @aﬂmmm 2jwe > gflereory a;wcoﬂ

The order of stabmty of carbanions is

“ A} primary » secondary > tertiary = B}  tertiary >- secondary >‘pr1ma.ry
]C) tertiary _> primary > secondary D} secondary > tertlax’jr > pﬁrﬁary.

£ ‘k !
£k ‘
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177. eriuer Cribleér gweflfiar Hlanadgerenollen sflurest prauflosous CatbhOs® :
A)  Ouile <deyufl < Cesm il < Gufrafwf]
B Qudé <Tepof < Oiafufl < Qesn.f
C) OQesamf < d]smgmrﬂ < GLiefwhl < Quwdid
D) Ouiedwh < Qescofl < Senqwfl < Qindle.
Choose the correct order of carbocation -stability :
A) methyl < primary < secoﬂdary < tertiary
B) methyl < primary < tertiary < secondary -
C}  secondary < pﬂmary < tertiary < methyl

- D) tertiary < secondary ‘< primary < methyl.

178. 8Gsr-LriLmflé sufessde geflflue Géoerg g,e&rmwé@é &IT(oTLD
A) adliorpréad enowlbd B ~ B)  suser swsfit geawly
C} odlsu u@me’x ' ' D} & flwmié sHeeneulT&ei.
Reason for the optical inactivity of meso-tartaric acid is
4A)  inversion centre B} plane 6f symmetry
C) bulkiness D) racemisation.

179. _gg@&rr@us&r@usaﬂaﬂ@,ﬁ)g; gbweiéf@ UCrrGur QarEd Qearam. wrplukeser
QupiL@dldTpe. emausefle apganer geflliud Lrpdubses @b ?
A)  gem | B @uem®
) apesTm) ‘ - D) @euppeir argiayblidene. |
‘Isopentane can form four isomeric bromo dérivatives. How many of t_hem'are
optically active ?

.A) One : B) Two
C) Three - D)} None of these. | _
180. sfluren eurdduseansd Cefbols® *
A)  Heu-2-0y g et sifle Haoaggsian amihs lbﬂf_[blﬂmfb Q@xb’
B) ngrrsara‘va-lﬂ\uqeﬁ JPAT:AT: Q‘mmﬁ,gs&rmm cumibhg wrHHhud B,
Q) lav wppid ggreray 2-0yget Gr Powpsatan 2L wer
D) v wbmib gorerey 2-Uyiger Hlaawuppanal. |

x ' 16001
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Choose the correct statement :

' A) . cis-2-butene is a more stable isomer

B trans-2-butene is a more stable isomer
C) ..both cis-and trans - 2-butene have the same stability

D}  both cis - and trans - 2-butene are unstable.
181. ahgs asanu’uurreuﬂéo pafleremru -y L e @Gsﬂrrcmmq.m Syl - erdeurefledlen

aNearGouah SHawrs SBéGD 2 '
A) .CH ;COOH B} CH,OH

C) DMSO | ‘D) H,O.
In which solvent is the rate of Sy, 1 solvolysis of t-butyl chloride maximum ?
A) CH, COOH B) CH.OH
C) DMSO D) H,0.
182, Nanreliesn UCHmOCappssTes San g | .
A o-4GyrGuriilerme B) pyGyrCuriermé
C) . myCrrGumierré D) sym-geny yGyrGurlermé.
Bromination of phenol gives |
. A) ' o-bromophenol B) p-bromophenol
C)  m-bromophenol D) sym-tnbromophenol

183. af@é»mmm_ apg gpeindles NaOH gﬂﬁ&amg&éo epauid Heml GLgub ﬁjfrg)ug_,sg,m aflemeot

FoLwLTs HeoLGupdng 2
. NO,

: ’ o

A NQz Q Cl B) (CHg), N—< 0 >— Cl
o - NO, - T

C) ‘CH «Cl | "D no, @ cl

' Among the following the one that readily undergoes hydrolysis with aq. NaOH is
! N02

| _ < '
" Ao NO; cl B) (CHy;N-( o >— cl
N —

O,

Q) CHLl ’ | D) NOg@ Cl

x[1602] | ' 16001 [ Turn over
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184. Qurgyalldr gypp AlCl ; peraflomeniia Kimad @lamorPudr Ceibg allaven
Lfibg sréequ allemerGur@er srg 2
A) 1,3, 5-ge rperge Quender B) 0 - whpd p - evgpeSenael

C)  m-engeien D) eLleearé S50

When toluene is treated with methyl chlorlde in the presence of anhydrous
AICl , , we get

A) 1, 3, 5 - triethyl benzene ‘B)  o- and p-xylenes

C) m-xylene : D) diphenyl methane.

185. QLenGsnifls siflesos ot Cyr ghpb Qelieusrd Hes (g
Al o-onCrr QuarGsmis auﬂétb
B) p-émrj,t‘.@qrr Quen@emulls: spbeuid
C) menp Gpr QuérGsmils oyflevd
D) o, p-oLonGyr Quen@emis Sithleuid.
Nitration of benzoic acid gives
A)  o-nitrobenzoic acid B) p-nitrobenzoic acld
C)  m-nitrobenzoic acid D) o, p-dinitrobenzoic acid.
186. epCrr Quetdener HNO 5 / H 2SO ;gd'u epLyges ghpiv ey Qun@a
' eﬂm._uuga | ‘
A) mreLep Crr Quenden
B) oeoLap Crr Quender |
C) p-oLop @rr Querder
D) meouop Gyr Quardar salurafls gufieb.
Nitration of nitrobenzene with HNO 4, / H ,SO , gives

A) m-dinitrobenzene : B} | o-dinitrobenzene

C}  p-dinitrobenzene D) = m-dinitrobenzene sulphonic acid.
187. QuiLmr-ayflam @b Qaredowus Carbosd

C) -~OH D) -R

Pick out the meta-directing group : |

A) -NO, 'B) -NH,

C) -OH D) -R.

x| 1602 ' 16001

-


www.studysite.org
www.studysite.org
www.studysite.org
www.studysite.org

o L _
AR - 61 ‘, VITA
188, rl.lﬁlaéeﬂg)l};ﬁ 2 &G Saybeuranerd Carhs® :
R -J;\) NH ;. B] RS-
Lot S
. C) H 20 D) RCOOH.

. . i
" Pick out the very good nucleophile :
Cod Vo _ \

‘M) NH, | B) RS-

0 HO: | D) RCOOCH.

[

- 189. &G @@Ulﬁ];‘@a‘rmmmamm Sg afleveniilés #FHUED _g,_e'irrmtpés@eslj)u Qg auflameadis 1
‘, 5@5. . N . )

o - Qe GrrLstedt

woy
i

i § Quender

Rt : égsbﬂefsgﬂm &Cenran(®

- ,TA) S H>i> i OB) ilisi>il

‘0 > D) i>1i> il

o &

Arrange the :féllowing in the order of decreasing trend towards S, reactions :

i. 'Chlorobenzene

T

At i, i Benzene
oo B
:‘: ‘L

A) - ii>i>dil ' B) ii>i>ii

. ’ “Anihnium chioride.

Cr H>H>1 ‘ D) 1>1i>1.

190. Jl’r’n..m-aﬂgrru@ éﬁlsm_suruﬁ]e’o Sifwreuéad gearewiller grafles

Y

" A)l . znCl,>FeCl > AlCl, - B) ZnCl, > AICl ;> FeCl ,

g

€} AICl,>FeCl ;> ZnCl , D) FeCly> AlCl > ZnCl ,.

Ixi'FnedeIJCrafts reaction the order of catalytic efficiency is
A} ZnCl,>FeCl, > AlCI , B) 2nCl, > AICl , > FeCl , i

O AICl ;> FeCl , > ZnCl , D) FeCl 4 > AC] ;> 2nCl ,.

x -m - . m ; 16001 . { Turn over ol :
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191, el sagandsda uddi® oloaGuagdda sfure @Umm@&mmg

A) RF <RCl <RBr <RI B) RI < RBr < RCl < RF
€C) RBr<RCI<RI<RF ‘D) RCl<RBr<RF <RIL

Choose the correct order of rate of substitution by nucleophiles :
A) RF<RCI<RBr<RI " B) RI<RBr<RCl<RF
C) RBr<RC1<RI<RF D) RClI<RBr<RF <RI
192. &psaaaL sriCurean Cryd ag a6CrramevalL @eafturs @wsen 1
| A) GEnsGsTey ' B} Ur&GL e
C)  ears&GLme D) | @eubpeh ergrapdlcvensn.
Which of the following carbohydrates is sweeter than sucfose ?
A)  Glucose B) Fructose
C}  Lactose ' D) None of these.
193. gest sphdl CamuBeug @Geme .
i, SjeuBerd
.  Qeublere . e
fii, seyOUTER |

v. @eubpel ergiablévensy.

Bleupmist | , .
A) () vl @b sfurerg ~ B) () whomd (i) sflurereneu
Q) (1), (i) whpd (i) sflureraneu D)  {iv) (b &.rHUJlTGngj.

The specific rotation varies with
i, wavelength
ii. temperature -
iti. solvent

iv. none of these,

Of these :
A) (i) alone is correct B} (i} and (ii) are correct
C} (), (i) and (ifi) are correct D) (iv) alone is correct.
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_ % {194 a?pam%mn.sup@m DLETEHOTH SHORTEHE g ?

EaE A)fj‘ - 5&Qpmen " Bl  er&Gumey
’ % ' C) mrrso(-‘?l_rrem D) QeagGersu.

} "‘ v Whlch of the following is NOT a disacchartde ? o
_ ‘ A)¥ Sucrose - B) Lactose T
. 6o C) Maltose D) Cellulose.
195. @é(‘.?aarrem x e el & emsyeniw Wevetd mgmr_gé’sur @mé’:wqusﬂ oflearyfibg
gacwrrmsurg 5@&51;951 Qibs nﬁlemsuruﬁla) x &1 iy

: A). cl_,pso'r@ | B) @uyes(
£ i ) @m@ : . D} preng.
[ Glucose reacts with x number of molecules of phenylhydroazine to yield osazone.
' The value of xis _ :
[ | A}* three 'B] two
| };1 C)E ' one | D) four.
" 196, fpsacorapiie ag Ger smub 2
N \ o A ‘a;eﬁl&tﬂc&'r _ B) OQugdlér 3igere
L g gy @en D) wrtefucy oghset.
= Whlch one of the following is an azo dye ? -

.o+ A Alzarin B) Methyl orange

S L ' C] lndigo _ ), ' D) Martin's yellow. _

197, ut.lq.u.léu Isp uu'_qméo Il 2 e Qurr(r_r,&,ﬂ af@p QerpssiucPeien @D e
o Qaa;rewr@ sfurer efleLowp CarbOs® :

] . uLigwe I _ U wes XX

{ ¥ i "

: a)

Bar #nwid DTREDEHL LS

;\ bl gendeers S8z smwb yGemmy et

v ’ C_l? Q@riig smw sraGar feuliy

i T

; :d):il' anp@g et smud

- ;) Beworg Ca.
UL efutpeet -

e

B) i1

-k W N
AW N =0
N o= oA WoR,
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199.

200.

64
Match List I correctly with List II and select your answer using the codes given
below : '

List 1 ‘ : ' List II

a) Azo dye 1. Malachite green

b} Triphenyl methane dye 2. Fluorescein

c) Vatdye 3. Congored -

d) Xanthen dye 4. Indigo | .
Codes : |

a b c d
A) 4 2 1 3
B I 3 2 4 i
) 2 4 3 1
D) 3 1 4 2
ursCareCrrilear parey damas GN&Spg 2
A)  Slauy peiey B) e patey |
C) #fpb S ey GoODHSH D) @euppieh ergiaplleiancy.
Bathochromic shift refers to '
A)  red shift B)  blue shift
C) lightening of colour D) none of these. ;
wedor LTeSon_kigs@hée Hauly BinGuhrn LweTu@d Curer
Al Gmdy sbameav® | B) srifubd 2 (usel c
C) wrasets 2 liyssel D) @gGymilud 2.(ysee.
Red colour is imparted to the ceramic wares by )
A)  iron oxide B) cadmium salts
C) manganese salts D) chfomium salts.
Querg sLlev GeuglSlwer Carganenty QLITGel eTesTUg
A) Lt Crl sywefl, Cu?t 2 Lédn Sleovaniphs ememiayd Gsitiolb :
B) Gl swefl Cu?t 2 L Gevanhs Samad Catwb .
C} RMgBr
D) frgs SsCurafiurallén o eren féeut. .
Benedict's reagent 1s

A)  Cu?* complexed with tartrate ion
B) Cu? complexed with citrate ion

' C}] RMgBr

D) Ag in aqueocus ammonia.
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Read the following instructions carefully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

This Booklet has a cover { this page ) which should not be opened till the lnvigﬂator gives signal to
open it at the commencement of the examination. As soon as the signal is received you should tear
the right.side of the. booklet cover carefully to open the booklet. Then proceed to answer the
questions.’

This Question Booklet contains 200 guestions.

Answer all questions All questions carry equal marks.

The Test Booklet 1s printed in four sertes e.g. [A] [B][C] - or [D] (See Top left side of this page).
The candidate has to indicate in the space provided in the Answer Sheet the series of the booklet:

_ For example, if the candidate gets series booklet, he/she has to indicate in the side 2 of the

Answer Sheet with Blue or Black Ink Ball point pen as follows :

- [A] Il (B1(c1(D]

You must write your Register Number in the space provlcled on the top right side of this page Do
not write anything else on the Question Booklet,

] 'An Answer Sheet will be supplied to you separately by the Invigtlator to mark the answers. You

~ You will also encode your Register Number, Subject Code etc., with Blue or Black ink Ball point pen -

must write your Name, Register No. and other, particulars on stde 1 of the Answer Sheet provided,
failing which your Answer Sheet will not be evaluated.

in the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to
encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct

. response, mark the response which you consider the best. In any case, choose ONLY ONE response

for each question. Your total marks wﬂl depend on the number of correct responses marked by you

‘tn the Answer Sheet.

' ; In the Answer Sheet there are four brackets [ A | [ B ]{ C | and [ D | against each guestion. To

10.

11

12,

13.
14.

answer the gquestions you are to mark with Ball point pen ONLY ONE bracket of your choice for
each queston. Select one response for each question in the Question Booklet and mark in the

_ Answer Sheet. If you mark more than one answer for one question, the answer will be treated as

wrong. e.g. H for any item, (B) is the correct answer, you have to'mark as follows
(a1 icrio1

You should not remove or tcar off any sheet from this Question Booklet. You are not allowed to take

* this Question Booklet and the Answer Sheet-out of the Examination Hall during the examination.

- After the examination is concluded, you must hand over your Answer Sheet to the Invigilator. You
' _ia_rhe allowed to take the Question Booklet with you only after the Examination is over.

e shicet before the last page of the Question Booklet can be used for Rough Work.
Failyre to comply with any of the above instructions will render you liable to such action or penalty
as the Commiasion may decide at their discretion.
In all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answer in the Question Booklet.
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